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Répondez aux questions suivantes:

1_Complétez les phrases avec des subordonnants en indiquant la classe
grammaticale des subordonnées.

1. Vous aurez des responsabilités .....................

2.0nignore ........ccceeveee.

3. Il reste fidele aux idees ........

4. N’emmene que ce ...............

5. Le public boude ce film .................

6. Ouvre les volets ..........c.......

2_Remplacez les GN COD par des subordonnées conjonctives équivalentes.
1. Les organisateurs esperent une amélioration des conditions météorologiques.
— 2. On a exigé du constructeur le respect des consignes de sécurité.

— 3. Le professeur a obtenu de ses éléves une grande attention a ses explications.
4. On annonce une reprise prochaine des négociations.

3_ Indiquez la circonstance exprimée.

1. L’orage a provoqué une panne de courant, si bien qu’on ne voit plus rien.

2. Si j’avais du talent, j’écrirais un roman.

3. Adressons-nous a 1’hotesse pour qu’elle nous indique ot nous devons aller.
4. Pendant qu’elle téléphonait, le repas a bralé.

5. Le chat déguste son poisson avec délicatesse, ainsi que le ferait un gourmet.
6. Quoiqu’il paraisse vétuste, ce fauteuil est confortable.

7. Comme j’étais en avance, j’ai fait un tour dans le quartier.

8. Cet enfant raisonne comme le ferait un adulte.

4 Indiquez la classe grammaticale de chaque que (qu’) et dans le cas d’un pronom
relatif, soulignez son antécédent.

1. Quie signifient ces signes gravés sur cette pierre ?

2. Lui qu’on croyait si calme est entré dans une terrible colére.

3. Que répondre aux messages insolents qu’il nous envoie ?

4. Je suis satisfait de I’ordinateur que je viens d’acquérir.

5. Quelle est la montagne que 1I’on apergoit au loin ?

5_Soulignez les termes mis en valeur dans ces phrases.
1. Voila une heure que je t’attends !

2. Les jeux video, les jeunes en raffolent.

3. Personne ne m’a fait de compliments, a moi. C’est toi que tout le monde admire.
4. 1l n’y a qu’en Afrique qu’on peut rencontrer des girafes.

5. Nous en avons mangé tous les jours, des pates.

6. Ces fleurs sauvages, on doit les protéger car elles sont rares.

Bonne chance
Dr/ Waleed eldemerdache
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L Tanta University - Second Semester H
Faculty of Education c ExaTF}EI(ZO\}\?)_t,
| i ourse Title :Writing |
I Donartment of Forpign Fourth Year(General Education) Il
I Languages Time:1hour i
I (English Section) Marks:80 H

Course Instructor:
Dr. Nesrin Radwan

i (1)Which ONE of the Following Sentences would be a Better il

[ Thesis Statement and why? [20]Marks i

U (a) Organ donors should be financially compensated. ”

H ¢ Given the grueling surgery and lifelong changes they endure, H
I kidney donors should be financially compensated for their act H
of self-sacrifice.
i (b) Eating fast food is bad and should be avoided. i

e Americans should eliminate the regular consumption of fast
[ food because a fast food diet leads to preventable and i
I expensive health issues, such as diabetes, obesity, and heart |
I disease. ]
(c) The American steel industry has many problems

e The primary problem of the American steel industry is the lack i
of funds to renovate outdated plants and equipment.
(d ) Hemingway’s war stories are very good ¥

e Hemingway’s stories helped create a new prose style by
employing extensive dialogue, shorter sentences, and strong A
Anglo-Saxon words. ]

2-Write the Paraphrases [10 I
Marks] ]

"The meaning of home has yet to be )
studied in a truly interdisciplinary /
way, despite the fact that in the past i
20 years there has been growing i
interest in the topic from scholars
across diverse fields ranging from =
sociology to architecture." (Mallet, é’ﬂ
2004) :
See Next page I




I 3-There are social, medical, and technical problems associated ]
4 with the use of Mobile Phones? What Forms do they take? -
I Do you agree that the problems outweigh the benefits of |
mobile phones? :
I [30]Marks ]
: 4-Task 1: Describe the Following Graph: f°
[ [20]Marks ]

. Essay topics: The pie chart below show the |
. online sales for retail sectors in New ]
© Zealand in 2003 and 2013. Summarise the i
. information by selecting and reporting the ]
. main features, and make comparisons ]
where relevant. ]

]

WRITING TASK 1 J

You should spend about 20 minutes on this task J

The pie charts below show the online shopping sales for retail sectors in New |
Zealand in 2003 and 2013.

Summarise the information by selecting and reporting the main features, and
make comparisons where relevant. i

Write at least 150 words. |

2003 2013 i

= y &

W ravel H
T filmymusic 2
W books T }
clothes = = &0

Best of Luck; i
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T‘o
I
Il
Il
Il
Il
Il
Il
Il
Il
I
Il
Il
I
Il
Il
I
Il
Il
I
Il



I faldl) i) dua gl | jia olaia) dbiud 1

ﬂ% Auilatia) 43,9 Chual.. da))d) 43 AU é’ﬂ

l AN el A Aasaal) Aulay) il I

\t ou
Uoo ------------------- OOU
| st s e nELE e . ot )
i = agileih A ¢ gandy G gital) JULY) o) plalal) (lany LS Y I

: (Gole IS = AV pum = 52 58— Mlall £1S1) ]

I : cya el B agadiig ad gai sLET 8 (g0 90 gall JUilY) Lgnilay 3 SIS El) i | ¥ |

| (Gome Lo S = (ompdl pgliomnd ¢ s — &S shad) LoV (a pgililae = (st 30 2355) ]

‘o[) £ I T o« 3 - . I 1 . (]
T S aY) Qladgh f Ligd Ualdy) Uiy o cludpal) fa lase @iy WY il

i (ASyad) Jalal) cihlea — Jalal) o183 — Al Jalall cDIKe — )l Jakall Jras) H

I Aglladi¥l A shoad) i) Cya AglBsl) (3 a) Gt e el Y el ¢ |

Alled W i) g ]
°f

s Lo gud ga gal) Jalal) celian JiS) (e L0 ]

(G Lo IS — el o pSai — 200 3l 4 gads — dadine (e A Jally o) g2) 5

Ala Jilal) gt ..., i) Al B S | 99 candy Lglidg oY) o JRAL) Jelal) L% ]
A 0l ]

(Al = 4 J8al) — die Laial) — A8 al)) i

ragllibl aa usagall JUY) el Jolis JISET (e LV .

(G Lo JS — (Jaalll Juaalgil) — 56 l) — Zalyll dusylad) s;o

Jalal) s al g 1aly Aagall Lialil Linglpns b1 (LIS 4al) Al pualic aaf chag -A 1



e T 0T 0 0% 0% 0a 0% 0% 0% 0% 0% 0% 0p 05 0% 0% Gp

(Goms Lo IS = lilsgll i — Gy Fpalal) DUl i — S jil5)

..... Jikal) &gl Aadal U dlgi cnlgll hag i) cpa .
(o Lo S — A0l dpnlie — pall KD gl dgag — AS5ha aas b Jikall 42

........... allaally jany gl Joand e 8 gaclil) bl waas aie .Y
Sladl = Y e Gl J (e Aaadlall alel — aadla) dlery Jikll djea axc)

(G o S — gsm) (e Badae 5538 & Adaa DLl

......... olead) 8oLy B ey Jasadl) Jilug Y
(G Lo U8 — ale)) ilguiall — g i) AnladY) cileaiall — Lol Aplay) cilgaiall)
alaill il graa (553 Jab ..., saibadll yaE (Kay )Y
(Aae L) — A8 bl — dy5 il — Audill)
LY (alyy Als ey LY die Sl Jiand 3yka (e veneennnnn AY
(G Lo JS = Joliial) G — dadall — clalal)
....... L cllad Bany lobeal) Juanil jdial) apaall) (Guaali (Say .V ¢
(G Lo 8 — A mpanat — 2aatiall (gae W) Jadl) avanal = JUaiY) 5l (Sl arana)
LS glad) clihady) Eigaa quiadl cuallgll lgasy Al Aulgl) clehay) e V0
ragllibl oAl Aladiv)
— CoAY) g sl gy Gy — Jalall Ay s i gl — 2] el (sgiue (aid)

(Goms Le S

e ol (%) S (V) Loke gz

(%) el 1S g sila b () sty (il JS L - )



e dsand) Jeall U8 Lo Al ey ALl cilhlaall) (e 45650 Sle ) anais LY
(%) Jenll A e ol 4y ) 925 5 )Sae dnda e

sie 48 shally Apusiil) DISEA e ) AS bl bl e AE el Ciags LY
(%) Juky)

(%) 3abendls ale Hsnd 4pal & A8kl lhlaizadl) Jilall oliles (10 o)l . €

Baes Aalay) DB L) psa sy Jilal) 5aY \gialiag duald 5)pemy oY) added (g5iua ) 0
(V) Ditins 403l L gl L e (sl

(X) enll (A agadiiy b gai oLl (& COSa () 5058 sall JULY) Gy ¥ 1

Clage aplans Wy s A b cilie i bl (e (oage gl W (Al 1LY
(V) poe oo ST AlaiiV 15 A8 slud) bl d,Lad]

(%) Gl Glhhual ge bl ¥ Il Sola Glylaal agal @3l Jalall LA

asfy Ayia) 5 DA Ll bl A5 zhgai 98 sladl Jyaed oo b saclal) Jadll .4
(V) Sl ilae (i L 4tanSlas gellaall

(%) Jadall ddadl) ey asiis andiy Gmgdsall JUlY) il adlll Jelidl) of )

) gl e

il 3 e
N L /2 A1

-

A Al Al ol (3 kg aliall andd Uaihs ansla

daldl) Clidl) G a8 3k [ Bala (sladial
" Lo LaiaY) clud ol dad (i) anlacil day) ) 43,81

Qhisba [ G 3 (Al gl 2020/ 10/ 7 [ g

-l ALl s )




[ Js¥ Jgud i
I J3al w2l (3 Jashadil 3 gy g el a5l ddaal) ) A8Me e - |
I ¢ sl ;

l Pl Aallad 8 55 ) Jalgall Lag el Y1 (a8 A8yl alasiind Lpaal S - ]

) S g ]
l SIS il i ¢ guin b Aualill Clalia¥) (5530 o syl Laslad 46 e - I
ﬂ% Cuamadill e Jha S5 & C33axal) H
- Ca 4l (5 5l malionll Lgale adiay Al (oaliall (add -0 -

) G ) el ]

l Cilaal Loy ¢ Saal) JRll " iy g0 " el oa Las ¢ Saall Jaill el s 53l La =) I
§ Tg 5l i

cddw\ﬁdﬁ\ﬁw‘jc‘)ﬂ\jcaﬁb}“w%ewu}chbj\@)ﬂ\uﬁ-u s
T 58 sall 5 (3 sdiall Jakall

(&8 9l g ladly cbuiaY) qubl aa ]

Y1 ials audh Al 1 28 il JUSU il bl 5 Bl (31 e (i ]

Qdaiae e LAY AW - J Y1 Al J

o) sloaul) dal) 3asic ) i

) S 23 il S8 7 gala S - ible i |
AT I g e 5,0l 3 i e e ¥ !

eandll el oz Rl o elainl) oS3 i
Al il Gl 5 asalial) DA (po Jibal) (3530 Ay - ¥ |

Calll 3 el sl i alell Y ] !



H p A sidall S alasiind 5 e el 40Kl e Jaidy - 8 H
L bl 0 (Soallr sl i ) il S S ]
2 @AJJ}#\U&\L}‘M‘?L@"MW'O &
) bl A0k 3 )Y o LY AS jad (el aifi c 4y 555 JSAN e o el ] ]
i Gule mpen -2 23l ]
| L Jiall 183 et N g2 A Al e !
i bl Jual) (iS5 panall) o Jilall s samco 38R 3 g an ) - il
I Giula e -3 !
l el SOal p i) 5 claaill s il pead) Suaai e 308 dilens 3l (pan d
i Gadle paan -0 (Sl ;ts.sx\ € il S e galt S ..i ]
L > sV 505l usall HLaaY Wada o gl g s ) ddlad (al jel 2 gm0l As ja- A |

I 25 -2 Jil831 -z 56 831 - (38 56 - g i
i pJihall 4 ) (35 ) Al o dgarl - 9 Il
L Gile aaea -3 skl @l 3l oz CBEAY) &y ae <yl &l |
: e R sy el olSH gy ) f°
I Jaalsilly alaia¥) 0 el -z AS el il i
| Do saa Lol il ) als i jladyplai skl 2 )Y ]
Gale e 23 sl S allr aBl ) ahiall oo gl 1S g;o
- LaalSH g gl Jadall (ailiad (e Sy i

Gole maan -3 (S SEl o adaill o) AV - alail B g ) ) |
JSEN Gun e oAl @Il e Jalall cuy i daalil) il jlaall (g Sy )
31 pall aladinl —n o ga sl il i oz Land) aladiind cco ol S alasia) A

D) Se AN Calis) b daiall Cile) 2 (e BRF: I

COla I o Gaalll il slae ) o iy ) ] |

Gaile e 23 Gl el iz 3 seaddl S i Ganaill ;e - Yo G

agal SV LYy peliall @l o) e Jula¥) oy yai 8 dpeal @il ]

i

.

i

:L;““ \wuu‘e”* -1 :

5 A Bl |

Sula e -2 il KA dats -z il 8A) Gl mo Gl KAl A ja - i
amiall S ja Ganeti] Aial) ol 8l aladind e 5l allams bl (pe _Y I

Sl vl oSA Ly Jlall plSH L s gall ASAN L SIS S “
Gomedl o Sz Soall i sl ST e KA ey S YA i

daniall S pall amall ol e Jsiusall 58 |

s 30 3 el pmdll el jieall s sliandl el s 214 I

G AY) ae g Jalall g Jlailly ) gail) (e A siusdl) i

Slo Capill b ciladaall JabU Ay jall (35 all Al 50 aelus S Y i

So

|
I |
% So
‘o% ‘
000 ‘
Lo@ 08 0§ 08 __of o9 o9 o9 0§ o 0§ __of 08 __of 08 __of 09 __of _of oS __of 0§ __0f 08 __of 08 __of _Oof o _of __of o9 __of o5 o9 __of o5 %]



I L sl 0 aleill Aalisall Jahadll o k) cladial s JulaY) cileaial - ]
: =l sl |
; Wadll g ol guaall Alicaf 5 (SN anil) ]

| oAl G35 ) (il oalie ] o5 (5 e sSamn 13 55 (e claie¥) 3 a1 Y ]
l ( ) Lad il e laiaY) 35 ]
I ( )Y ol axis Lgie Slagsle 20 G el gdlall (e 085 ¥ ]
| () Al a3l gl Sl Y el gudl Andll e i € !
i (Pl Anand & ag il o gl il measall JLERY ApuluY) 3 oad oo 0 i
I QLYY Gl el 100 e /a0 SN ) gl |
L G ol Al Jeaill 2 2020 L




Tanta Unrversity Jaly 2020 (Dr. Enas Elsheikh)
Faculty of Education Year: 4" Year (General)
Department of Foreipn Languages Subject: Linpmshes
1. Answer the following questions by choozing either A or B. (20 pt=)
L. “I'll be back later” and “Twill retwrn gfter zome time " have .. meanmg.
(A) same / (B) different.
2. ‘Gentlemen prefer blondes 13 a ... sentence. {4) generic /(B) non-generic
3. “Cais are vegetables "15 _... {4) true’ (B) false
4. Mouth {(of 2 mver v= of an anomal) 15 a case of ... {4) polysemy’ (B) homonymy
5. The term cousin 1s ... () vague / (B) indeterminate
6. Does the definfe article, the, prompt the hearer to (by to) identify the referent of a refemng
expression?T {4) ¥es /(B) No
7. “Boys will always be bays 15 ... {4) informative’ (B) uninformarive
8. ‘Sarah’s mother-in- law" and “the mother of Sarah's huzband " have ... sense(s).
{4) same/ (B) different
9. Could John, My uncle, the girl sitting on the wall, a man, my parents possibly be refermmg?
{4} Yes/(B) Ne

10. Does 1t make sense to talk of the fime and place of a sentence? {4} Fes/(B) No

2. Mark each of the following statements as true (T} or falze (F). (30 pi=)
1. If someone sayvs, ‘Can you pass the salt? " he iz nommally not asking about his hearer's ability to

pass the salt, but requestmg the hearer to pass the =alt. T/F

2. If someone says Tr is raining " at a fime and place where no rain 15 fallimg, he would be making

2 true statement. T/F

3. Lingunistic context is the location "out there” where we encounter words and phrases (the word

"BANK" on a wall of a building is understood as a financial inshfution). T/F

4. Every expression that has sense must have reference. T/F

5. John s present wife iz unmarried 1s In a sense contradictory, desenbimg an mmpos=ible situation.
T/F

6. [f John killed Bill is true, then zo iz Bill is dead. T/F

7. When we encounter tero or more words with the same form and related meanmgs, we have what

15 known as homorgamy. T/F
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Faculté de Pédagogie STYLISTIOUE
Département de frangais Session de mai 2020
Ouatriéme année {éléementaire) Duree - 1 heure

I- Mettez (¥) ou (x) et corrigez les fautes :
1- L' écart morphosyntaxique recourt a la créativité formelle.
2- L écart au plan formel reconrt i 1a créativité propre an signifiant.
3- La métonymie donne a un mot un sens plus large oun plus restreint.
4- Les jeux de mots constitnent un écart au plan formel et sémantique.
5-La langue est garnie par des régles créant nne vniformité dans 1'nsage.
6- Le changement de classes grammaticales des mots est un écart formel.
7- L'« étrange comparatif » représente une transgression morphosyntaxigque.
8- L’absence des verbes conjugués est considérée comme écart sémantique.
9- L’ wécarts est tout ce qui est particulier, anormal conforme an standard nsuel.
10-La "norme" désigne tout ce qui est d'usage commun et courant dans une langue.

II- Dites quelle figure de siyle existe dans les exemples suivants :
1. Deux doigts coupent faim.
2. Vious allez montrer les dents.
3. Cent voiles flottent a I"horizon.
4 11 a verse un torrent de larmes.
5. Je I’ai v de mes propres e
6. Je t'invite pour prendre un verre.
7. La vieillesse est le soir de 1a vie.
8. Mon parfum_ situl'as .. je te fais ta féte.
9. Hatez-vous lentement, et sans perdre courage.
10.La douce viclence d un parfum d homme.

IT- Expliquez en donnant un exemple :
1. Jeux de mot polysémigques
2. Jeux de mot homonymigques

V- Définissez ces figures en donnant un exemple :

1- La tantologie 3- La métaphore 5- La litote
2- La synecdogque 4- L'hyperbole 6- L' oxymore
Te vous soukarte la metleure réussite !



I Faculté de Pédagogie TRADUCTION 8 l
‘T Département de frangais Session de mai 2020 H
‘o‘% Quatrieme année (G.) Durée - 1 heure et demie H
i I- Traduisez en arabe les survants : i
I textes |
L 1. Qu’est donc cette force que nous appelons « créativité » 7 Elle est, dans la nation, Jl
| une résolution de propulsion vers I'avant. Elle est. en son ceeur, une faim, une soif, |
I une nostalgie de ce qui est inconnu. Flle est, dans son dme, une succession de réves I
| £l qn |
ﬂ% qu'elle s"efforce, sans arrét, d’accomplir ; mais dés qu’elle en a réalisé un chainon H
% a I'une de ses deux extrémités_ 1a vie vient en ajouter un nouvean, i 1"autre. Elle est &
L chez les personnes la supériorité et, chez les collectivités, 'ardeur. Or, Ia ]
U% supériorité chez les personnes n'est rien d’autre que I'aptitude 3 imprégner aux H
U% penchants cachés de 1a collectivité, des formes apparentes et perceptibles. H
U% 2. Au Caire les observateurs sont unanimes pour estimer que le climat général n’est H
I pas au bellicisme et qu™un nouveau conflit armé est pour le moins improbable dans I
| le proche avenir. L indécision des dirigeants égyptiens est évidente. La réunion Il
‘T conjointe du Parlement et du comité central de 1'Union socialiste arabe, le 28 H
“"% décembre, n'a abouti 3 aucune prise de position spectaculaire. H
i 3. Dans la plupart des pays industrialisés le nombre des suicides semble en A
I |
“"% progression continu. En France, par exemple, on compte de 10 i 15 milles suicides H
% par an et peut-éire 10 fois plus de tentatives. C’est surtout en fin de semaine ou s
3 I'époque des congés que se situe, pour les déprimeés, 1a période critique. p
i IT- Traduise= en is les textes survants ; i
[ nea |
I Lails of i) § pama o8 LSV jallae e yglae aslll L) g pall 4l Jiise o L |
I Crpall agall iy saml) il oy s res op Al i G ST 5 8 Coaa 135 AL )
| = o e i K sl S i e i i i el Al Jmiaa Ty sl J
H Ltk a0 Jicna S Ta gy Sl 15 LS s A ,ell 22T K55 3 ol ana i
: Al ol LgBss jezlal o S lglaiusd 3 g e IS o5 Lgpzalal :
I J
H s ot Aalll el G ) Al 1 o Jiluagll s of Bl A0l oln Y Sl s e Y Il
U AL pa g« pally S5 A G bl a o lalla cdadad gy 4as oy elall i
H iy hal e U SSH Ao o m ey wond dle N Gal) e 4 L iy g3l i
I Llo,i o cuda i 135« Ll i 55 ey Lalm e clgaly Bl il Lzl ]
I Loy abiy AT selaly sa Ja dindia ]
H DS Sy AT S sl YT kil 400 San b a il peme yanll e ) T ]
I . . |
H% 405 5aiii e pal (e pall Banne wilie Ll IS Sl LS e 5 30 oo gl pa1 6 lan :
H% cra Sl T Ayl 4 a5 4] i 3l e ol s J sl U Calla —  ll LY :
i o i e 1550 bl Jla g 1 ghoai o5 el ang | st o Adandl Jla 5 e ol ) :
I : )
u 74l I
I e vous souharte lo meillenre riussite | }
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Faculté de Pédagogie TRADUCTION 4
Département de francais Session de mai 2020
Ouatriéme année {élémentaire) Duree - 1 heure

I- Traduisez en arabe les textes suivants :
1.Qu’est donc cette force que nous appelons « créativité » 7 Elle est. dans la

nation, une résolution de propulsion vers 'avant. Elle est. en son ceeur, une
faim, une soif, une nostalgie de ce qui est inconnu. Elle est, dans son ame,
une succession de réves qu’elle s'efforce, sans arrét, d accomplir ; mais dés
qu’elle en a réalisé un chainon i I'une de ses deux extrémutés, la vie vient en
ajouter un nouveau, a 'autre. Elle est chez les personnes la supénonté et
chez les collectrvités. I'ardeur. Or, la supénionité chez les personnes n’est rien
d’autre que I'aptitude 3 imprégner aux penchants cachés de la collectivité,
des formes apparentes et perceptibles.

2. Au Caire les observateurs sont unanimes pour estimer que le climat général

n’est pas au bellicisme et qu'un nouveau conflit armé est pour le moms
improbable dans le proche avenir. L indécision des dirigeants égyptiens est
évidente. La réumon conjomte du Parlement et du comuté central de 1'Union
socialiste arabe. le 28 décembre. n'a aboutt 4 aucune prise de position
spectaculaire.

IT- Traduisez en frangais les textes survants :
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Te vous souharte lo meilleure réussite |

Dr. Réda ALLAM
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H Part I: Read the following sentences then choose the correct answer from (a. b, c or d): H
| J\
H 1- The main problem with gender specific langnage is.......... H
[ a) presenting opposing views ]
‘T b) nmn:tahzyg language H
ﬂ% c) stereotyping H
‘o‘% d) changing female roles H
H 2-(However, these claims can be fuiile and need revision.) This sentence can be H
I USEduwunsvnnn.iWl The argumeniative essay. I
[ a) as a general introduction ]
‘T b) in a body paragraph that refutes opposing views H
\0\% ¢) in the conclusion H
\0\% d) as a support for the thesis statement H
H 3- A medical represeniative needs fo equip......... with the latest devices. H
| a) himself b) herself c) itself d) Both (a) and (b) l

4- The adverb ONLY in the following senience (I only ran down the corridor) gives the
mreaning that......co.vuu

a) None else ran in the cormdor. il
b) There is only one corridor. J
¢) I did not do anything else except running. )
d) I did not run anywhere else. i

3- In order to make the sentence (Jack said fo Jim that he was needed urgently at head
office) clearer, one camn...........

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
}
1 b) use parentheses 1
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

a) restate the sentence J
) use direct speech j
d) all the above Il
g‘o

6- The senfence (We are commitied to eliminating all fraces of discrimination in the Iaw :
against women.) is ambignons becanse it may mean fhai......... I
a) We need commitment to the law. }
b)) There are laws against women. )
c) A study of these traces of discnmination is difficult to do. i
d) We must make new laws. i
1 i
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H Part I: Read the following sentences then choose the correct answer from (a. b, c or d): H
| J\
‘T 1- Which aof the following is NOT a purpose of argumentation? H
| 2) Presenting opposing views. |
‘T b) Persuading the reader with one point of view. H
ﬂ% ¢) Refuting a view by showing how faulty it is. H
‘o‘% d) Narrating the development of something in a chronological order. H
H 2-(Throw out the bottles and boxes of drugs in your house.) This sentence can be H
U% /L O ;| _ﬂ.re argrmﬂrrﬂm'e £55ay. H
| a) asa general introduction ) . |
‘T b) in a body paragraph that refutes opposing views H
% ¢) in the conclusion s
% asa i es1s statement 5
d) support for the thesi
- The operator needs 1o equip.........with these protective devices.
H 3 Th d: ; ith th ive devi |
| a) himself b) herself c) itself d) Both (a) and (b) l

4- The adverb ONLY in the following sentence (I ran down the only corrider) gives the
mreaning that......co.vuu

IL

|

U% a) None else ran in the cormdor. il
! b) There is only one corridor. J
| ¢) I did not do anything else except running. ]
W d) I did not run anywhere else. Il
¥ i
H% 3- The appropriate pronoun that helps avoid gender issues in writing is ".........” :
H% a) you b) he c) she d) it :
i Pl
U% 6- The sentence (The camels were located nsing helicopters) is ambiguons because it may }
! mean that......... J
| a) Camels are flying helicopters. j
ﬂ% b) We can use helicopters with camels. i
° c) Helicopters are not a useful means with camels. 5
H% d) Locating camels looks easier than it really 1s. :
IL .
I il
IL .
I il
IL .
= il
5 s
I 1 s
Il . . .
\T wilaiia £ 8 gl H
i
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PART 1: Read the followi assage then choose the correct answer from (a. b, ¢ or

Throw out the bottles and boxes of drugs in your house. A new theory snggests that medicine
could be bad for your health. We can be healthy by doing Reiki on a regular basis.

Supporters of medical treatment argue that medicine should be trusted since it is effective and
scientifically proven. They say that spiritual methods such as Reiki, waste our time. We must
admit that these methods are very effective. However, we pay huge amounts of money and
become addicted instead of getting better. How about a safer and more economical way of
healing? When doing Reild to yourself, you do not need anything except your energy so it is

very economical.

Opponents of alternative healing methods also claim that serious illnesses such as HIV/ATDS
and cancer cannot be treated without drugs. Actually, it is common knowledge that except for
when the cancer is diagnosed at am early stage, drugs also cannot treat ATDS or cancer.
Instead of drmgs which have many side effects, you can use your energy to overcome the
hardships of life. Since balancing our emotions and controlling our thoughts are very
important for our well-being, we should definitely start learning Reiki and aveid illnesses
before it is too late,

Some people may still maintain that in our material world, everything depends on time. This
is one good thing about Reild; it does not require more than 15 minutes of our time. There is
no need for changing clothes or special equipment. Most important of all, it is less time
consuming than medicine if we think of all the time we spend taking medicine for some

complaints and taking some more for the side effects as well.

Having said these, resistance to Reiki would be guite illogical. Reiki is natural and drug-free.
It is definitely high time to get away from the drog boxes we store in our drug cabinet!

1- In this essay, the wrifer iries fo.........

a) persuade readers of the benefits of altemative medicine
b) narrate the developmental steps of using Reiki
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